SAMPLE TEST

Multiple Choice

1) Calculate: (Berancanre:)

2-1+3-2+4-3+5-4+6-5+...

A1
B) 100
C) 200
D) 201

2) Find (Haitaure) 0,1 + —=

A)1l
3

B) 5
111

©) Toro

D) 0,2
3) Solve (Peruts) :

0,76 11 2 5 1

00019 6,6 002 06 2

A)1l
B) 308
C) 300
D) 727

4) Find x. (Haraure x ?)

3%.3* =243

A)1l
B)3
C)2
D)9
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1
0.1+53

=7

+201-200=?
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5) Solve (Peruts) :

6) Calculate: (Beramcaure:)

1 1 1
1+ —+=+—
2 3 4_,
I
7+i7
2 3 4
A)é
7
1
B) =
)2
o -
12
D)1

7) Find x. (Hanawnure x ?)
4X+2 - 321—X

A1l
B)2

1
C) -

1
D) =
)2
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8) Find x. (Hamaure x ?)

\/x+1+2\/§+\/x+1—2\/§:8

9) Find x. (Haitaute x ?)

1
9

A)-1
B)-3
C)3

1
D) =
)2

10) 2022 -4689 +2345+690 =7

A) 2022
B) 638
C) 1322
D) 368

11) 20,22+88,1-51,99+4,07 ="

A) 60,4
B) 20,22
C) 44,34
D) 50,4
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12) How many blue circles will be in
picture 8?

(CK0aBKO CMHMX KPYTOB OyJeT Ha
KapTuHKe 8 (picture 8)? )

0000
998, + 889
@O 95 + 83 s+ 4G
Picture 1 Picture 2 Picture 3 Picture 4
A) 18 B) 24
C) 72 D) 36
13) Find the angle x?

(Haiaure yroa x?)

A) 103
B) 132
C) 54
D) 80

14) Find the value of (x,y)?
(Haitaure 3HaueHne (x,y)?)

{7x—6y =4,
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15) Find area of this figure.
(Haitaure niaomiaab 9Toi GUIyps?)
B -

20cm

A) 166cm?
B) 190cm?
C) 174cm?
D) 180 cm?

16) How many circles will be in pattern 8?
(Cxoabko kpyros OyJeT Ha “pattern 8”7

@

O O

@ O O
00 00000 0000000

Pattern 1 Pattern 2 Pattern 3

A)25
B) 33
C) 27
D) 18

17) Find x +y +z.  (Haiaure x +y +z ?)

x—-3y+3z=-4
2X+3y—z=15
4x-3y—-z=19

A)11
B) 4
C)7
D) 18

MATH QUESTIONS

GRADE 9 -10 (CATEGORY 6)

18) Find the surface area.
(Hamaute naomaab MOBEpXHOCTN?)

A) 150cm?
B) 236 cm?
C) 246 cm?
D) 188cm?

i sin5x +sin x
=8X  Fi - -
19) I 7 =0X, Find & e sinx
g : sin5x +sin x

(Echm 7 =0X, Hamaure sin3x+sinx)

1
A = 4

)2

3
B e

)2

1

0 -
D) 1
- aJE—bJB_;a+b+J§5

a+b—2Jab  a-b
A) Va++b
B) Va—-+b
C) Jab
D) -1
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Short Answer

21) Simplify the expression

(7-6,35):6,5+9,9 s

1,2:36+1,2:0,25—1E :@
16) 24

Answer:

3Xx-2 A B C

22) It x(x2—4x+4) 0 x—2_(x_2)2

Find A+B+C="?

3x—-2 A B C

(Ecnm X(X* —4x+4) X X—2_(x—2)2

Haitante A+B+C =7?)
Answer:

23) Find sum of all values of x ?
(Haitaure cymMMmy Bcex 3Ha4Ye€HMI X ?)

Xy =4+ —=2

Xy

Answer:

MATH QUESTIONS

33
(X y +3y—3xj-yx;xy+y2:16
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24) Find III. (Hamawure III ?)

l. x®y=i2€r)i2
y X
1. x@y:ﬂ
Xy
1. 4®5="7

Answer: _

25) Find x. (Haitaure x ?)

1,2+0,375-0,2 0,016+0,12+0,7

6i+153+0,8 é
25 5 3
Answer: _



